WYKAZ  POSZERZEŃ 

Przebudowa drogi powiatowej Nr 3003W

RASZEWO - RADZIKOWO 
od km 2+706,57 do km 3+186,57
          Strona lewa
           km 2+746 – 0,00

                                            0,00 + 2,14

                                             ---------------   x  54   =  1,07 x  54   =     57,78
                                                   2

               2+800 – 2,14

                                            2,14 + 2,04
                                            ---------------   x 100  =   2,09 x 100    =  209,00

                                                    2

              2+900 – 2,04
                                            2,04 + 2,50
                                            ---------------   x 100 =    2,27 x 100    =  227,00

                                                   2                         

              3+000 -  2,50
                                            2,50 + 1,78
                                             ---------------   x 100 = 2,14 x 100     =   214,00

                                                   2

              3+100 -  1,78
                                            1,78 + 1,04
                                             ---------------   x  100 = 1,41 x 86,57 =   122,07
                                                   2

              3+186,57 -  1,04
                                                                                ---------------------------------

                                                                                   Razem            829,85
             Strona prawa:
          km 2+714 – 0,00

                                            0,00 + 0,72

                                             ---------------   x 16   =  0,36 x 16     =      5,76

                                                   2

               2+730 – 0,72

                                            0,72 + 0,00

                                             ---------------   x  30 =  0,36 x  30     =    10,80

                                                   2

              2+760 -  0,00

                                                                              ---------------------------------

                                                                                   Razem             16,56

              Łącznie – 829,85 + 16,56 = 846,41
                                                            Przyjęto:      847 m2   

